
Nalezněte obecná řešeńı rovnic:

1.
yIII

− 3y′′ + 3y′
− y = 0

2.
y′′

− 2y′
− 3y = e4x

3.
y′′

− y = 2ex
− x2

4.
y′′

− 3y′ + 2y = sin x

5.
y′′ + 4y′

− 5y = 2ex sin2 x

6.
y′′

− 2y′ + y = 2xex + ex sin 2x

7.
yIV

− 5y′′ + 4y = sin x cos 2x

8.

y′′
− 2y′ + y =

ex

x

9.
y′′ + 4y = 2tgx

10.

y′′ + y′ =
1

1 + exp x

(Výsledky na druhé straně.)



yo....obecné řešeńı
yp....tvar partikulárńıho řešeńı (Věta 12.11.)
A, B, C1, C2....reálné konstanty
A1.

yo = C1e
x + C2xex + C3x

2ex

A2.

yo =
1

5
e4x + C1e

−x + C2e
3x

yp = Ae4x

A3.
yo = xex

− 2 − x2 + C1e
x + C2e

−x

yp = Axex a yp = A + Bx + Cx2

A4.

yo =
1

10
sin x +

3

10
cos x + C1e

x + C2e
2x

yp = A sin x + B cos x

A5.

yo = ex

[

C1 +
x

6
+

1

40
cos(2x) −

3

40
sin(2x)

]

+ C2e
−5x

2ex sin2 x = ex(1 − cos(2x))
yp = Axex a yp = ex[A cos(2x) + B sin(2x)]

A6.

yo = ex

[

x3

3
−

1

4
sin(2x) + C1 + C2x

]

yp = x2(A + Bx)ex a yp = ex[A cos(2x) + B sin(2x)]
A7.

yo = −

1

20
sin x +

1

260
sin 3x + C1e

x + C2e
−x + C3e

2x + C3e
−2x

sin x cos 2x = 1

2
[sin(3x) − sin x]

yp = A cos x + B sin x a yp = A cos(3x) + B sin(3x)
A8.

y0 = y(x) = −exx + ln(x)exx + C1 ex + C2 ex

A10.

y(x) = − ln(
(

e−x + 1
)

ex) + ln(ex) − ln(
(

e−x + 1
)

ex)e−x + C1 + C2 e−x


